B REFBRRELANEEERLR (Fdy) FRANERE

FrA AR E TR R R
#B LiEfe

EEFE
(1) £Z A EXE+H £—FH -
(2) FNEEH LERAR -

—~ KRBT o n F K
(2) (2y+e*)dy+ ye*dx; y(0)=-1;(10%)
(b) x3y ,”-3_}C2y”+6xy 1-6y:x4 ; (10%)
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3x+ 6y +4z= 7

3w + 4y -2z =-10
-w + 5% + 2z= 11

3.0w+2.0x+2.0y-5.02z=8.0
(b) 0.6w+1.5x+1.5y-5.42=2.7 (109)
1.2w-0.3x-0.3y+2.4z=2.1
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(1} KBz Characteristic Polynomial
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Find the Fourier series of the periodic function f{(x), of period p=2m.
fx) ==n-x|if -w<x<m,

and calculate the sum of the series S=l+~1—+~l~+l«+---
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